
 

 

 Q. no 1: Choose the best answer:     
1. Identify the compound which is not soluble in water      ۔  
a) C6H6  b) NaCl   c) KBr   d) MgCl2 
2.  Triple covalent bond involves how many electrons.                  
a) Eight  b) six    c) four    d) three  
3. Boiling point of NaCl۔                                                                          NaCl 
a) 1413 C     b) 
4. Which one of the following is the weakest force among the atoms   

 
a) Ionic force  b) metallic force  مٹيلک فورس   
c) Covalent force  فورس کوويلنٹ                   d) intermolecular force  
5. Ice floats on water because 
a)Ice is  denser than water  b) Ice is crystalline in nature  
c) Water is denser than ice   d) Water molecules move randomly 

Q. no 2 Give short answers .                                       
 
 
 
 
 


